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AREA OF THE PICTURED REGION

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

To ask the right question is harder than to answer it.
George Cantor, German mathematician.

Match blue regions with their areas.

The puzzle is finished. You can see you score
or browse the questions again. x
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You are an Einstein!That was excellent!Perfect, keep it up!Great, now you can try solving one of
the Millennium Prize problems!

Wow, what a wonderful job! Just be
careful about an alcohol party before an

exam. You could damage your brain
cells.

That was close! Next time you will
shine like a star.

You’re almost rocking.That’s like when you end up second in a
competition when you could have won it.
A little harder and you would kill it. Try

it again.
Great! Only millimetres

away from perfect.
Not great, not terrible.

You are somewhere in the middle.
Don’t worry, your result is more than

half correct.
Not bad! In some areas you haven’t got

enough knowledge yet.
You can do better! You have to work

harder!
Try again, practice makes perfect!You made it,

but there’s still room for improvement.
That was a close shave! Study more,

next time you might not be that lucky to
pass.

Keep trying. It will be better next time.You may not be a future Fields Medal
laureate, but you can do better on this

test.

It wasn’t Enigma,
so where is the problem?

Your math knowledge
is just like the square root of −1.

Next time don’t multiply your knowledge
by zero.

Mission failed. We’ll get them next time.What a calamity!For this test - the goose is in the oven!
Try another test.




